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= 7|t
get jammed
v MZ0|| S LTt
punch the papers
3 AH|O|E2{2 BTt
staple the paper together
9 AFO|ZE Z0|C}
reduce the size
10 AL21E AESiCE
use a calculator
11 sdAdo=2 nx|ct
fix it with whiteout
12 (He|) detH=E gt
take your number
13 47t Hoj|A| datst=S otCt
have her call you
14 A|R|E Y7|CF

leave a message

o IYEHST S

—

— - I_E
o - 3 - =
g ) JESES o]

Have you ever PP ?
L5 2 & goe

iy

He has never PP
= ~2 osiLte?
Has she PP yet ?
N ~ 302,
| have already PP



No.

ALRO| oot #YISS 5|10 oA &tz AlFe 2AE IHE S o st 28S
Ch B SE &5¢ 20= CHE XA Z20M Hi@= BTt HAES| =8dto] 289
=13 Ol 2Qf{2 7|E|:|-

ML oo 1= [

SIS AIRE 22 QLtR?

Have you ever done the office work?

7 HAS of2] o ERILIR?

Has she sent a fax yet?

L O|0] THAE MR

| have already received the fax.

J4E SAte 2 40| glof L.

She has never made a copy.

tHo|0] MEE 58 SASI0 2.

| have already made 5 copies of the document.

1 Z2IEo= S017F A= 40| glo L.

The printer has never gotten jammed with paper.

RN NZ0| FHS LHH O,

| have already punched the papers.
MFE AHZ2Z 0F2] OF BHotEt0| 27
Have you stapled the papers together yet?
= AO|ZE 20 2 40| glofe.

He has never reduced the size.

d= ALV AESH 2 20| glo2.

He has never used a calculator.

JdE7t sZdo=z 11z|= AS CILIR?
Has she fixed it with a whiteout yet?
Cho|0] Eilof MSIHS E B2

| have already taken your number.
7t GAof|AH MetoteS siEto 2.

| have already had her call you.

0|0 IA|Z[E BAHL 0L,

| have already left a message.



No.

HE &7t 7|Cte| A otCt
put you on hold

st 3|4l sick

return your call
OO 7| O A|R| & Mo ==Ct
give her the message
HEE Z2|otct
arrange the records
AL E ATt

write a bill

ZAE Bt

obtain an approval
CA3E ZCt

insert a disc

CIATE HfCt

take out the disc
QIE{LllS HAdSICt

surf the internet
0|0|¥-& =telstrt
check the e-mail
HYHSE oS0}
create(put) a password
H|QH S 2 Qladsict
enter a password

AMEAF S YHSIC
enter the user's name
njYs eHsSth

create a file

II'- X 2t= AlKef £
KHAl B 2|0l Al B

= I EHEY ayﬂ xS TS G2

—

— - I_E = — = —
FE BYRe A st ZE0 HE

T

L= ~2 C o2,

| have done ~ING

OS2 ~ol22| eitoiL.

They haven't been ~ING

= OEA ~sin Lte?
How has she been ~ING ?

23| ~5F 4 91902

We haven t been able to ~

G2 ~Of Cal 2ol A QALE2?
Have you ever thought about ~ING ?
A2 ~5t 2| HotLt £[Ao{e?
How long have you been ~ING ?



No.

Ao 2ot #oiSS 95|10 oIXf e AlXNeF 23
Ch B SE &5¢ 20|= CHE XA Z220A Bl =
=13 %I\i g 7|§|:|-

L OO 1= —

ke

o 2.2t

A7t A3 E J|Ct2|7| ot AS A2l 2LtR?

Have you ever thought about putting her on hold?
o)A Mzt 2|4lS &L T

| have done returning her call.

2217t 20| A HIA|R]|E HaliE &7t AR

We haven't been able to give her the message.
D7t MBE Felaie2| iz,

He hasn't been arranging the records.

JU4E OEAH ALMME M2 ALIR?

How has she been writing a bill?

ZA|IE 2= 20 Chol Azts 271 3o =2

Have you ever thought about obtaining an approval?
22l fA3E EES IR0,

We haven't been able to insert a disc.

J A3 E igo .

| have done taking out the disc.

Oz Qe U HMS 22| AIto 2.

He haven't been surfing the internet.

J= o2 o] Y-S =Qlal 2LtR?

How has he been checking the e-mail?

HYHSE SE= 20| Cholf 442tsi2 0| Y227
Have you ever thought about creating(put) a password?
HYHSE AASUSLICH

| have done entering a password.

ALEZIES UM ES L CE

o= -Hdamg

| have done entering the user's name.
2= Od S oS £t QI L.

We haven't been able to create a file.

&

—



TEST _os

. 83N I 2% Y 2E

AFROA BIO|E} RH2(of RS BHESS o|n
Ste 22 S|2C YEHES S5 Fo|= ¢
stol @30 Hgs 4 s 8832 2L

ot
b
a
o
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No. E3JE
1 otls Ak
open a file
2 o= S X Tt
search a file
3 oS S AfstCt
copy a file
4 N Z203e 22 C sic}
download a new program
5 L MZFE Y2E siCt
upload my document
= & NEE AHHsICH
delete an old document
7 MBE d2|stCt
organize the documents
3 MRE MY =2 F2|otct
arrange the documents in files
9 o|0ez M2E ELCt
send the documents via email
10 GIO|e|E YHstCt
input the data
11 G|O|E&|E ATt
leave out the data
12 H|O|&{E #{&stCt
save the data
13 G|O|E|E Ql4fstCt
print out the data
slHe HC

look at the screen

l2q £

—

Six) 2tE AN 9 g
2 KAl Zolo A Bj2 =

T

52 0t3l ~5t2| it
They haven't PP yet

L= 27t ~st= 240] Cialf A2
| have heard him ~

Jd&= ~st7|2 243012,

He has decided to ~

f2le ~otA| 7|2 22,
We've decided not to ~



TEST _os

No.

83tA| 24 2% Y 27

AFR O A GlOIH 22|0f
o= 282 Sl=Ch WEHSE 558 2= LHE
Stol 20|l HE8Y & U= SEEHS 7|EL
3HS 0|2| RV

oY 2

0SS of2 IS | o2

They haven't opened a file yet.

7t 0 ops 20tE Y| 2 23302,

He has decided to search the file.

7t oUS SALSH 240 Ciel S/UAH L.

| have heard him copy a file.

22|l= M 2203 CHREE6IR| 7|2 Z2H3UA L.
We've decided not to download a new program.
7Y MRE Y2E JUCtn SAU02.

| have heard him upload my document.

R2= 2= HFE HHotr| ¢7|2 2H3M0L.
We've decided not to delete an old document.
=2 o3 NZE d2lolR] U0,

They haven't organized the documents yet.

d= MRE IYE F2lst7|2 2302,

He has decided to arrange the documents in files.
22| 1 MFE O|HYZ BLYR| ot7|2 ZHJMN L.

We've decided not to send the documents via email.

7t G0l E ¥ ste= 240f Cia A0 K.
| have heard him input the data.

= O H|o[HE AfAst7 |2 Z2H3U 2.
He has decided to leave out the data.
OS2 O3 HO|E{E A &otA| LA
They haven't saved the data yet.

=2 Ot2 HO|E|E QlafotA| LU,
They haven't printed out the data yet.
O OF2 3tHE BX] iAo 2.

He haven't looked at the screen yet.

L3t BHES Joln WY YB ANt BB

KHAl 22| 0| A B2

—
—
—

&

—



No.

TS 2|t

increase sales

THOf = Z0|C}

decrease sales

THO{ 20| ZrA STt

show a decrease in sales
217+ LiCt

show a deficit

=2387| =55ttt

= 71
overcome the depression
2|7t gttt
make balanced income and outcome
== 4}

make money
HZGMEE gt

get a payroll

a2 gt

get a monthly payment
30| 220}

get a raise

sz ldE 2ottt

ask for a raise
HUHAE gt
receive a bonus
USEAE ofCt
negotiate on wage
&oliE Lt

sustain a damage
IpAbSHCH

go bankrupt

Are you done ~ING ?

22|l ~ohs Ao Az,

We are used to ~ING

L= ~aliM =4 B0,

| was shocked to

<70 Qlol ~Z|HAH L.
is PP by

- 7F -0 loff ~&[0]Z]| 12 0L
is being PP by




No.

e E0 HBE BEAHSS Ao|D +FE|, YSA 2AE IH S o) =gdots 283
Si2Ct HESS 55 20l= LHE XA Z2[o|M Hi@= R HE5| =510l 280
MRS A ol o9 {2 7|§|:|-

To=2 T M- oo 12 —

We are used to increasing sales.

22/0]| 2JsiAM THOjHO] 20{EUN L.

Sales for this month was decreased by us.

JZ40| ok ZhA0) H l=alie.

| am used to its showing a decrease in sales.

J7Z40] H2p7t LEM H 24 2o

| was shocked for it to show a deficit.

2| 2Ate] B E ol Qo E47(71 & S8 A0,
The depression is being well overcome by our company's endless effort.
F2|of s FX|7F & L0210 A0

Balanced income and outcome is being made by us.
22l = He= Ao A5l

We are used to making money.

Jd= EoEMEE 2 24 20|,

He was shocked to get the payroll.

2 A dFS L2 Ao Asole.

We are used to getting a low monthly payment.
23 A HE O M3

Are you done with getting a raise?

7|=2t=20| ool 85Q140] 24510 JUSLICH

A raise is being asked for by the mechanics.

2 o] HLAS W A T X2[3t Aol2?

[y w—

Are you done receiving a huge bonus?
UF A CF 012l A47t27?

Are you done negotiating on wage?
fels &oflE B Ao a2,

We are not used to sustaining a damage.
G IORASHA S 4 202

| was shocked to go bankrupt.



Iy HE oMo HHE EHSS Ys|n 7P aH HS 24 X2st= 282 s 2Lt i
HEZ2 &5% 20 CHtE XHA| 220 HiRE E R MAS| X260 20| HEY =+
ol odie 7|§|:|.
M- OO 1= —
st& 0|2|& 7|

2T L

I 2|lEfo] 4 otCt Lf7t ~eF 4~ QICHH =3 ||

make(give) a presentation | wish | coul

Z2|ME| o] M-S FHIstCt
prepare for the presentation
3|o|E &Lt

hold a conference
2|2f0oj| 2ttt

attend the meeting
ARl E STt

hold a business meeting
3|o|&H|E stCt

prepare for the meeting
3|o|E 0|2t

delay the meeting
2|9l 8 SThotrt

adjourn the meeting
3|9l & ZH7HstCt
reconvene the meeting
Z2|dEo|ME EFsICt
defer the presentation
URE N2Ct

pick a date

SRE Yottt

set a date

SRE AL T|CH

move up the date
=RE D[RC}

postpone the date
At2|E A=t

offer a seat

22|l ~ohs Ao Az,
If I were him, | wouldn't
tS0| ~2HZ| I3

| wonder if they

0~ HER] S SAL.

| was wondering if he 2}H &



I MEOo[Mo AHE BEHSS 5|0 7P B aH
HEZ2 5§59 0= CHE KAl 4o HiR= &
UF= S8EHEZ 7|20t

8t 0j2|27)|

oy 2%
LH7F ZME| 01 S & 4 UCHEH F2 ©IH|.

| wish | could make(give) a presentation.
JS0| ZMEO|HE ZHIR=A 3SdL2.
| wonder if they prepared for the presentation.
Li7t 3|9l & 4 UCHH =2 HiG|.
I wish | could hold a conference.

7t 5|9|of 2MTHEA] 2L
| was wondering if he attended the meeting.
Li7F O2tH, O ALY 3ol E2| et o2,
If  were him, | wouldn't hold the business meeting.
J=0| 39| EHIE M= 332,
| wonder if they prepared for the meeting.
2|o|E 0|2 &+~ UCHH =3 Hig|.
I wish | could delay the meeting.

Li7t JH2HH, 3|2l 8 Stotz| ¢FE HolL.
If  were her, | wouldn't adjourn the meeting.
J=0| 3|91 E A AHR| SSsHL.
| wonder if they reconvene the meeting.
01 ZefMEOlME BERIM=R 320K,

| was wondering if he deferred the presentation.
L7t 2, O GRE N22| 45 HojL.
If I were him, | wouldn't pick the date.
JS0| IRE J3MEe2] 332,
| wonder if they set a date.
7t SRE A HSE 333012,
| was wondering if he moved up the date.
Li7t 2tH, %2 0|2 2| 52 Hoj2.
If  were him, | wouldn't postpone the date.
Hof|lA| At2|E AHSal = 4 UCHH =2 Eih|.
I wish | could offer you a seat.



No.

ZHEfo| Mo ZHEE H
2 &5 S0/ 02 AA
sgyg sl
I

BEE

A= E HiE st}
distribute the handouts
A2 E L0t

hand out the paperwork
A2 E LHF0{FC}

pass out the handouts
M A S dYotCt
explain the new product
7HE (‘42h = ol st
get the concept

S 22 olalistct
misunderstand the concept
CtS 4= Hof7tct
move on to the next subject
O|HE Lotlt

make a comment

2AHZ SICt

give advice

RS ottt

ask for advice

A|QtstCt

make a suggestion

o€ SCt

give an example
Z1stct

give a warning

2lzt2 ot

receive a compliment
H|'tS Bt

be blamed

T
10| ~ofl=H ZHALE Hoj2.
I'd appreciate it if you

E410] ~ot= 40| 7tsente?
Would it be possible if you ?
7t ~ol = Ente?

Is it okay if he ?

gror 50| ~of2d SHCHHS

If they try to

Db} L} ~512 147} YBiCiRie.

If she wants me to



olomjo |
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u
il

g4lo| 2= E Hi ol £H D2

I'd appreciate it if you distribute the handouts.
SLA0| 2R E LHFO = A 7ts8tR?

Would it be possible if you hand out the paperwork?
It A28 LR E Ente?

Is it okay if she passes out the handouts?

Qo 10| M AIZS Aot SiCtHe.

If they try to explain the new product.

gror L7} 7HE (44 2H) S Ofslist7|E D7t «SICHHS

If she wants me to get the concept.

L0 g S 2R OlahizhA| =0tE DYoL,

I'd appreciate it if you don’t misunderstand the concept.

47t e A2 o7t Ente?

Is it okay if she moves on to the next subject?
Qror 147t o| HE Lot SHCHHE

If she try to make a comment.

grok LYOF ZASH V| E 07t SASIICHS

If he wants me to give him advice.

QtoF 50| Lo ZAS Fota{l SICtHe.

If they try to ask for my advice.

7t A etell e E7tR?

Is it okay if he makes a suggestion?

0| £ st} ST H LAt S LICH

I'd appreciate it if you give an example.

grok LYZF J10f| | Bnst7|E Q7 JSITHHE.
If she wants me to give him a warning.

orok LY7} 212tS BV & 7} /S He

If she wants me to receive a compliment.
Ot 'S 2ot Mot ?

Is it okay even if he is blamed?



No.

T MEO| Mo HEE HHSS 3|1 254
ote 2SS Sf2Ch WEHES S50 20)=
stof 270l M8 + o= S8Ye |20t
sh& 0l2[27]

B

H|'=t= grot=0lct
take the blame
RS U2
correct the errors
9|22 A|7|stCt
bring up a question
MZHS LRt

share ideas

O|AHS LH=Ct

share an opinion
O|HE Lotlt

give an opinion

2 20| EHsict
reply to the question
A0l CHalf A5t}
argue a point

H| TS 8ot x|C}

[

hit back at the criticisms
A E A| Aot}

point out a problem

£ A2|E ofC}

give unpleasant advice
d5S REH

hit the nail on the head
£2l5| LotrCt

speak frankly

0748 H9| mLtofl 27|Ct
leave it to your judgement
7 Of7|2 19t 5tct

drop the subject

21} 924 LEHYE HEST
LAl Ztelol A s Essot A
Tjels

7t~ 2| 2202,

I don't know if he

27t~ £ JASA H 22502,
I don't know if we can

JS0| ~JCHH FL RZ2H0[0] 2.
I'm so sorry if they

2|7t ~sf= AN R?

Do you mind if we ?

TS0 MACIR, L ~511 402,

— L3

If they don't mind, I'd like to

P b
oot ot



No.

Iy HE oMo HHE EHSS Us|0 S=HAst
St= 22 si2Ch IHES &5% 20l OHE
Sto] 280 M8 = A= S8HE 7[EL}
st& Ol2| 27|

QLM B2t

7t H| S oS REZ0L.

I don't know if he takes the blame.

L7t FRS HIEE S = USA ZEN0 L.

I don't know if we can correct the errors.
1=0| o|E2 A|7|3HCHH J2 R2H0[0f| 2.

I'm so sorry if they brought up a question.
20t M-S SRollE MU K?

Do you mind if we share ideas?

LH 0L EAO| O HES SRS HAl= ZE2Z0L.
I don't know if he shares your opinion.

Ch 2|7t o|AHE L £+~ USSR 22N L.

I don't know if we can give our opinion.

1=0| Z20| EHstz| AUpCtH FL FZ0[0L.
I'm so sorry if they didn't reply to the question.
2|7t 2 2A|0l| CHof] A= G4 HANN 2
Do you mind if we argue the point?

TS0 HYCHH 1 BITHS 20F 2|10 402,

If they don't mind, I'd like to hit back at the criticism.

227t 2H1E | Hsll= Ente?

Do you mind if we point out a problem?

J7F Ao & A2 UCHH FY F200[0]2.
I'm so sorry if he gave you unpleasant advice.
22Vt EFS RE & USR] 2ENNL.

I don‘t know if we can hit the nail on the head.
L 0F 215 Yot H2| 22702,

I don't know if he spoke frankly.

27t QA JHo| HEO| HAZ HMEAA?
Do you mind if we leave it to her judgement?
=0 MHRCHH H 7 07| OBtetD 40,

If they don‘t mind, I'd like to drop the subject.

P b
oot ot



